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Find the mode of the following set of data:

3) Find the range of the following set of data:

Find the Angle at side B.

Answer: Answer:

1) 64% of 17 2)
2,2,2,33,3,4,4,5/5,5,5,5,5, 09,04, 13,12,15,0
5, 15, 15, 15, 15, 15, 15, 15
Answer: Answer: Answer:
4) 5) 6) Increase9lby Y/, 4
Find the next three numbersin
the sequence
A=36 B 16,15,60,59,236,235,940 , ,

Answer:

7)  Increase 36 by 1/6 8) 02:46 am To 06:19 am

9) Anamount wasincreased by 8.4% to
$162.65. Find the original amount.

16, 20, 19, 20, 25, 20, 38, 26, 31, 3 t058.9

Answer: Answer:

Answer: Answer: Answer:
10) 11) 12)
Find Volume of Find Volume of 304~
Square Pyramid Square Pyramid
Volume of Cone
30
Answer: Answer: Answer:
13)  Findthemedian of thefollowing st of datax 14)  Find the percentage change from 38 15) 17-7-3+6

Answer:
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16) 17) Find the mode of the following set of data: 18)
/ 11,11, 11,11, 82, 82, 82, 82, 82, /
82, 13, 13, 13, 86, 86, 86, 86, 86,
A B =56 86, 86 ‘Name the type of angle.
Find the Angle at side A.
Answer: Answer: Answer:
19) 20)  01:42 am To 09:44 am 21) g+ 1,
28 Find Volume of
23 | Cylinder
-_—
Answer: Answer: Answer:
22) By + 23) 24) (-448) - (-297)
Find the next three numbersin
the sequence
0112358 , ,
Answer: Answer: Answer:
25) 26) 2013/, + 16% 27) 193 x 250
26 Find Volume of
/28 Triangular Pyramid
26 28
25
Answer: Answer:

Answer:

Answer:

28) Round 15.0535to 1 decimal places.

29) A number was shared in the ratio
32:16. The larger share was 30.
What was the smaller amount?

Answer:

30) A number was shared in theratio
32:16. The larger share was 30.
What was the smaller amount?

Answer:
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31) 0x 1000 32) Find area of square 33) Simplify 39:31
having each side (s)
s equals 541 cm
s

Answer: Answer: Answer:

34)  Findtherange of thefollowing set of data: 35) A number was shared in the ratio 36) mmw%%SW@W
16,-0.9 21:20. The smaller share was 20.
What was the larger amount?

Answer: Answer: Answer:

37) 10/23 of 46 38) Find the mean of the following set of data: 39) 15x15+1+3
0.3,37,0.9,12,0.2,0.6, 31

Answer: Answer: Answer:

40) 34 x 100 41) 05:.04 am To 09:11 am 42) Find area of square
having each side (s)
s equals 117 in
s
Answer: Answer: Answer:
14 14, 4 10 4 10,

43) 113X 47 44) 11 %41-5 Vg 45) 11 %44-5 Y

Answer: Answer: Answer:
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rectangle having

sidesa=2848in
andb=329in
Answer:

Answer:

46) 11 4,-5 9, 47) (-666) + 911 48) (-666) + 911
Answer: Answer: Answer:
49) Find the percentage Change from 40 50) Find the mean of the following set of data: 51) Find the mean of the following set of data:
to 82 6,0.7 0.1, 13, 0.6, 15, 0.7, 0.4, 27, 36, 0.3
Answer: Answer: Answer:
52) 53) Find area of triangle || 54)
a p h=786in,a=901
in,
Name the type of angle. < b=923in, c=941 A=35 B
in Find the Angle at side B.
Answer: Answer: Answer:

55) 56) W +12, 57) Find areaof
rectangle having
sidesa= 957 ft

A=35 B a and b =892 ft
Find the Angle at side B.
Answer: Answer: Answer:
58) Find perimeter of 59)  Increase 48 by Y 60) Increase 48 by Y

Answer:
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61)  (-11)x 26

62) Convert the following mixed number
1712/, 5 into an improper fraction.

63) 18Y, x 914/,

Answer: Answer: Answer:
64) 911 - (-874) 65) ¥ ,-19, 66) Find the percentage change from 8 to
4
Answer: Answer: Answer:

67) Anamount wasincreased by 6% to
$467.34. Find the origina amount.

68) Increase86 by Y/,q

69) Round 5.82578 to 2 decimal places.

Answer: Answer: Answer:
70) 20/12 + 4/4 71) Find area of 72) Find the mean of the following set of data:
. . triangles=245m 02,9, 37,12
5
Answer: Answer: Answer:
73)  Findthemean of thefollowing set of data: 74) A number is chosen at random from %) .
0.2,9,37,12 1 to 50. Find the probability of Find the next three numbersin
selecting number less than 11. the sequence
0112358 , ,
Answer: Answer: Answer:
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76)  Increase 152 by Y/ 77) Wax3, 78) (-33) x (-19)
Answer: Answer: Answer:
79) 909 x 527 80) Find the range of the following set of data: 8]_) Find peri meter of
2,-19,05,-1, 15 square having each
s side (s) equals 585 m
s
Answer: Answer: Answer:
82) 83) Convert the following fractionintoa || 84) 6/g+ 18/ 4
mixed number: 2%/,
Name the type of angle.
Answer: Answer: Answer:
85) Convert the following mixed number 86)  Findthemean of the following set of data: 87) 930 - (-196)

52/ into an improper fraction.

Answer:

0.6, 10, 0.4, 0.6, 39, 17

Answer:

Answer:

88)  (-826)- 519

Answer:

89) Convert the following improper
fraction 5%/, + 16Y/-, into amixed
number

Answer:

90)
22 7 Find Volume of
/31 Triangular Pyramid
31 31
30

Answer:
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91) 923+ 749

92) Simplify 47:33

93) Share 27 intheratio 10:17

Answer: Answer: Answer:
94) 20/, % %4 95) 207, x %14 96)  865-(-633)
Answer: Answer: Answer:
98) Find area of triangle || 99) Find area of triangle
Find Volume of a p h=689in,a=838 a p h=689in, a=838
Cylinder in, in,
c b=2841in,c=912 c b=841in,c=912
in in
Answer: Answer: Answer:

100) Find the mode of the following set of data:

60, 60, 60, 60, 60, 60, 60, 67, 67,
67,67, 67,67,6,6,6,14, 14, 14

Answer:

Total: /100

Copyright 2021 - Geek School Tutoring Limited

http://www.geekschool.co.uk



http://www.geekschool.co.uk

Name:

October 02, 2021

1) 10.88

8) 03 Hours 33 Mins
15) 13

22) 62

29) 15

36) 275

43) 196/221

50) 3.35

57) 853644ft

64) 1785

71) 25991.58743108m
78)

85) 47l

92) 47:33

99) 289724.5in
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2)5
9) $150.05
16) 124

23) 13,21,34,
30) 15

37) 20

44) 555/,
51) 10.34
58) 2354in
65) Vg

72) 1455
79) 479043
86) 11.27
93)1:26
100) 60

315

10) 4116
17) 86
24) -151
31)0

38) 11.71
45) 55550
52) Acute
59) 56
66) -50%
73) 1455
80) 34
87) 1126
94) 3%,

MATHS WORKSHEET B’

4) 144
11) 4116
18) Obtuse

25) 2816.6666666667

32) 292681cm
39)

65,
46) 5%/ gg
53) 362739in
60) 56
67) $440.89

1

74) Y
81) 2340m
88) -1345

1
95) 3/,

SEMERAT R

5) 939,3756,3755,

12) 28274.333882308
19) 11633.317596243
26) 104, ..,
33)39:31

40) 3400

47) 245

54) 145

61)

68) 88

75) 13,21,34,

82) Acute

89) 216/, .

96) 1498
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6) 98 7) 42

13) 225 14) 55%

20) 08 Hours 02 Mins 21) 62

27) 48250 28) 15.1

34) 16.9 35) 21

41) 04 Hours 07 Mins 42) 13689in

48) 245 49) 105%

55) 145 56) 131,555

62) ", 63) 183%%/4

69) 5.83 70) 22/

76) 154 W,

83) 1%, 84) 17/

90) 3410 91) 1672

97) 19815.595662518

98) 289724.5in
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